No part of the candidate’s evidence in this exemplar material
may be presented in an external assessment for the purpose
of gaining an NZQA qualification or award.

SUPERVISOR’S USE ONLY

9 1 2 2 4 ||II||| I|| || |I| | I|| Draw a cross through the box (X))
912240 if you have NOT written in this booklet

Mana Tohu Matauranga o Aotearoa

New Zealand Qualifications Authority

Level 2 Economics 2024

91224 Analyse economic growth using
economic concepts and models

Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Analyse economic growth using Analyse economic growth in depth Analyse economic growth
economic concepts and models. using economic concepts and models. comprehensively using economic
concepts and models.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the
top of this page.

You should attempt ALL the questions in this booklet.
If you need more room for any answer, use the extra space provided at the back of this booklet.
Check that this booklet has pages 2—16 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Achievement (TOTAL 10 )

© New Zealand Qualifications Authority, 2024. All rights reserved.
No part of this publication may be reproduced by any means without the prior permission of the New Zealand Qualifications Authority.




This page has been deliberately left blank.
The assessment continues on the following page.

Economics 91224, 2024 03307




e

e T U N O o A\ X
PRl L T L ALY

Y

&,

-

A T NN B R TG \ AR,
NS R R A A T A A A O S e

SN ke
:‘{ s ql-w-‘q A\

b
*p

R S A A R AN TS

A o
BRFL

i

», .
% 3 N\ A
e L e

3

QUESTION ONE: Aggregate demand and aggregate supply

(@)

Graph One: AS/AD model of the New Zealand economy

; AS
Price
level AS,
PL‘ wfpefofindlaciufiodpe ffagiodlofioadoghodofiniie -
PL 1 /
Lo AD,
. : AD
¥ Yi Real GDP

Explain each shift (aggregate supply and aggregate demand curves) shown in Graph One, and
the impact on economic growth, due to the construction and operation of Te Kaha.

With 4be consiudtion and operation of Te Kaha, fhe
governmnt Wil le avesting  $683 mil]on. ‘q‘h("#‘“ﬂ;fyr _
With an acwesse ia Jobs for  Consupurs Coastracdiay Te
Kaba, Consumpdion w.ll mircue, This ShiTls 4he AD

turve  Afrem  AD 4o AP . res wlbiag 1a  Ga fuueast 1a g Fowtl (ral COF).

(OVERTN "Mw_ IALrLH 1A C___#r_._S‘I’th"'-M ws»‘lf-o’s/ 1‘&’-'3 ';1Lrt-ﬁ‘;¢—5

Cf_f"o-'tnhj cnoh fmin_c.‘("v-'fv I Ao ccw, This Shiths
Y AS care Trom NS to AS., resulding /o am
rartese ia Growth  Creul 6pP).
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(b) Explain one disadvantage of using real GDP to measure economic growth.
4 doesnt  accownt for flinys ke  hpaldl gad
education , it are  e9Getial fadlors of < comamic
growth as  its  fewmficial for (ihiatns, Also  daesn'l
Glownd  for Alings [ poltwdion [/l fhe  HYI

(c) Compare and contrast the impact of opening Te Pae Christchurch Convention Centre on:

(i) Different regional growth rates in New Zealand.

The operny of Te Poae  Chridehucl Convendion Ceatre.

_.lor-'-\_,g _Mg\{h, |SOQ Ooo preple ye.nrly,_fhrb-ﬂ_m =
Consavmption inteesses o itldin tho andl fs this will

invesdmnts  n firms ts bh'n’ -f-éj P"—“Pu ing _m_
A - h'“,‘ﬁ ;
léLrean .',-”’ ?f’\ﬁ{l’\ i 1{4 /s o R? " On. —% 37 rondk W '—H

Sl Slightty Jnictase Growfl, as /-’-ﬂ’“_'%‘"' s
lofs of avestaunt iy Hhe i NZ Conveation lentre

G»\IJ ';A:S _(_/Ul’H Lf'."\') {‘91(1 0{ "O\Al"?b"S Q«J CanSumPI;on, I‘J\l" MI-'

r(?;o/\-
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(ii)

5
The distribution of income in the Christchurch area.
The Te pPac (,lqr:‘sfc&.m_d, Conuutnflon  (entie <o Cow Conshrachion
R 2 Ry A L Bl lots 6f Jobs % as /15
S CoaStan]  UNE Lay th WA A ear.

T his Saresst of sebs wall lpro'n) ‘nceme. ,ato lots
mote  peaple bbaree 'k Le shuwilints or  auluilbs,

1 alye frembrowghd S b wiillie  BE Elorarne velue
in the Chritcbucl aeen s So  this Mmonty conld Le
inesied Lok fato the C(onvenfiin (nfee bo (reate
bigote « bedbec evenls and lorivy unere people  Gad Hurctore
more prony. Thase cwents could Creatt mgee Lobs

ol [nomt . amd alin Mgy tould be pud tb highut intonas.
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Model One: Circular flow model

Referring to Model One, identify three flows that will increase due to an increase in astrotourism.
/nves danend
Economics 91224, 2024

Flow 1: Export Fece

Flow3: Consuapfiv

Flow 2:

QUESTION TWO: Impacts of economic growth

(a)




(b)

()

7

Choose one of the flows identified in (a) on page 6. and explain why it will increase.

E'-)cpur‘l Fectipts w ! i'atrease qﬂ;u;.‘sh wr'll  Come

Fo 4he (oke Telkaypo reg ion fFor the csirs toneismn.
’ﬁ!;s 'S one 6Ff Lake "dea'on's MAn Clonswne  aftrudia
a.‘of with pacre  doursls Lominy to the CGree /r:'mmv‘q

‘ro*r 45410 ‘fomrcsw‘_f f-)fpoﬂ ft(,c,.'ph w 'l ".Iﬂ(r(ﬁ&-c.

Referring to Model One, explain why an overseas tourist visiting Lake Tekapo might increase
growth more than a domestic tourist.

As When 0 plerseas fonrist ves'ts (abe Teko po - *%‘7
A PR T
asfrodoncism, fosd aad  CGetornsdation . ;‘,nqu,a,.'.n) (cm;umrpﬁm
5 e wwew, abile. 5 slopsshiv. Fouireds waill a4ilh
intresse  Comumpiion. owst less  ag thy pmuy Guve
télomodatio or Pood. Thtrefir Qppw#\ '9hi  inecease e

w ‘Ha  oveseas downricds, ratbur thon Agraest. e

( Question Two continues on the next page » )
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(d) Compare and contrast the impact of astrotourism on:

(i)

(ii)

Government revenue and expenditure.

A5t e s dpar e in Lake Tekapa Wowledh iatrcnte
revenue ond € X podituee as R br.'nys tn lots
of Grwth from that cren. The ?ou¢(nmc.ni
Wenld nofie the tatreone pf Joursts i the
Grea Ond  muvest in waapngre Frrms ornd  Lusiatsscs
‘n that eveu Lo Vintecnte Camspmf"“m. 72-!9&
“Thatetfore m&:";r%‘z rwveae o txpend duwve,
This ey deurese [~ {lt sumnsc (\owBRT ) Whin,
the slics olon't o dlarh fic oses and ess bourisis,

Lake Tekapo residents and businesses involved in the hospitality industry (food and
accommodation) in Lake Tekapo.

Laht Tekepo residintc and lousiaegses inVolued s

the bospitality ‘molustey could find Fhat fuir
If\ohs-'ny (aureased eqd FrsnmPlion Jacregsed.

,Z{S with an  tacrense ta foucsds From Gstes fourism
woenld peon hut Hre anis anen presoure  ou
N 6ueing availabilty So Hrefice flo  plemand Aor
Lq(,uc,-'n? (nrmies cnd Sy dAees 1 pri. Coa;mmff:'oh
would (nrcone fremn Jourists C.-m‘i'um.'ny Food ond

o Clomadd aliing Frama G, Aot i Tt lﬁosﬂ."}r»[l'l’\?

;'mm(uﬁllf-;. ﬂ'-s LD 2 ld R 0 /' Lenae '~ l/\ou%l-o{"l‘

a~d Hfu/) wsCoudd Lese Fhis AGIY A tiw
f-'.«&m,.'v\\ Selor [‘o Sabt oqu on foaxes b ‘M-(_,

Sover nment %L"mr.
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QUESTION THREE: Production possibility frontier

In February 2023, Cyclone Gabrielle caused extensive damage to roading, water, and
farming infrastructure. As climate change is linked to more common adverse weather
events, the ability of New Zealand's infrastructure to cope with these weather events
has been questioned. When roads, bridges, and other infrastructure are damaged, New
Zealand’s productive capacity decreases.

(a) Explain why a weather event such as a cyclone leads to lower GDP. Include a definition of GDP
in your answer,

GPDpP (?r‘o-'.s Aomesdi'c P{‘odv\t‘\() 's A gment Gf Gy
Pmewd tn the econsmy withw one ya@ne A
Cyclone 'l lead 4o lower CPP as infrusdruitvre ,
resds e~d bridee 5,.@4 dameqged end '+ costs lods of

oy by repeic tlum. Thse fhings Hhed ged Uectroyed clready
Cood  lols of mpaty Lo e predun ted s well,

One option is for the Government to increase taxes and use the funds to spend on
infrastructure projects that will help make New Zealand’s infrastructure more resilient to

these weather events.

On Graph Two below, point A represents the current combination of spending on consumer goods
and capital/infrastructure goods. Point B represents the combination of spending if the Government
increases taxes to fund spending on infrastructure.

Graph Two: Production possibility frontier

Consumer
goods

~——> (Capital / infrastructure goods
UPpur on -"{u]
Cun ‘
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(b) On Graph Two on page 10, label the opportunity cost of increasing taxes to fund infrastructure
spending.

(c) Referring to Graph Two, explain why there is an opportunity cost of increasing taxes to fund
infrastructure spending.

Whtn Yowu focus on f‘mrc_qs-'n) laxes o fad \fredrudue
o~ You re ulrcwfu? optratiny at Full (,c.\loau'fj, Yo 4

hoave reallatade the Cost ¢f  Consumar Ggods end c,qlonif‘u\

Ggoods to ihwcase doxes, Tl Oppcﬂ"'f’-""""‘] o5t OF
RAGLTIRY fexes ds Fund fafrastructuce s 4he Speﬂc/h}\) HFon

Conmmar Orru/' (J\pr‘ful 50\4;'{5.

Graph Three shows a future production possibility frontier (labelled X*) that occurs if the Government
does increase taxes to pay for infrastructure spending (point B).
Graph Three: Production possibility frontier

Consumer
goods X+

x&
Capital / infrastructure goods

(d) On Graph Three above, draw a future production possibility frontier (Y*) that occurs if New
Zealand operates at point A.

C Question Three continues on the next page » )

Economics 91224, 2024 03307



(e)

12

Referring to Graph Three, explain why the future production possibility frontier (Y*) you have
drawn shows a level of potential capacity different from the future production possibility frontier
(X*) created by point B.

As  whun Yo bpuale aul P-o.‘n-i A, bess MEnirg

oA c)ova*nm/\l faxes o Fund 5,;_:.,«011‘»? on  frasdructue
gets reallswated b ‘;ju.nvl\‘n? on  Lonbuamar omd c.tfpa'f‘-d
a)uools. Thi's Mcans Less V"\(a"-&‘j ¢ used on E;OWWJ
foxes and maore oA Comsiunnl ond (‘-"lf’""'\l ")ow‘h- ’TZ\"‘
resu lds  c~ [ess ef‘uhola'n) PR .‘qf‘rms-,rum‘ure, Gk iny 2
n~ore valwrable foro fulwe veatlu, eveats , however
the oty 8 gelling spatSpat on goedds fhat could
e Used @S reSouvctes. with (ess fmv\df-ﬂ) fo Spund
gn infrasdrutive  4his nums  fo (A pottntial Lﬂpac'k;
Alireass  From c..mrqrul to CX"), and Mgt oy
;o usc For ComSunur @l cqpilel e ds  that oyve hwder

duwc 4+
\o USe S reSownrr) FFem Less "govu-nwum# 9*‘37_&3.
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Grade
score

Marker commentary

One

A4

The candidate explained the shifts of the AS and D curves but did
not refer to the graph for the increase in economic growth.

A disadvantage of using real GDP is explained and reasons are
given for economic growth in Christchurch.

To move to a Merit grade, a clear comparison of changes in growth
in Christchurch and Auckland, or explanation of whether the
increase in incomes in Christchurch has made income distribution
more or less equal would be needed.

Two

A4

The candidate identified three correct flows and the reason for
export receipts increasing, but without context to specific goods
and services such as food and accommodation. The reason for an
overseas tourist increasing growth more than a tourist was
identified but without reference to an injection into the circular
flow model.

The effect of astrotourism on the different groups was explained.

To move to a Merit grade, a specific reference to indirect or direct
taxes for the government revenue and/or more detail as to the
effect on business in the Lake Tekapo region would be needed.

Three

N2

Graph Three correctly shows the impact of the cyclone on the PPF
and the candidate gave a correct explanation of why this.

To move to Achieved in this question, a correct definition of GDP
and correctly showing the opportunity cost of increasing taxes on
Graph Two would be needed. In addition, the explanation of
opportunity cost would be singular to consumer goods.






